(5) pd 5 pualaall

B yiaal) ) g2V 45 3) 5a
Direct Labor Budget

Vv

4 glhal) Hdlial) Jaadl Cilolu d3e lan) pali Led oy A1) 4530 gall A g
LY AdlS) clelud) oda 4dlS g Total Direct Labor Hours gLy
. Direct Labor Cost ( 3 lall

¢ Lgalil) (o gllaall Cilasl) al5 o3 Lgd AN g LYY 450 ga Ao 45 )) gal) ol il
B pdilaall ) gaV) 431 ga s gé aul) e alaal) addiud g

= UL 4 llaal) bl Jaad) cilebu el -

Baal o) Bas o) Z LN da U cilebad)  * Lgalil) o sllaall cilpast)
= b_puilaall JJ@Y\M-Y

deludl jal Jama ¥ zUDL 4 glhall pdluall Jaad) cilela Alaa)

Total Direct Hours for Production = Production Quantities

*

Hours per Unit

Direct Labor Costs = Total Direct Hours for Production * Hour
Rate
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Example:

The estimated production volumes for the months of the second
quarter of the year are 12000, 14000, 15000 units respectively.
If you know the producing unit requires two types of workers
(A and B) as follows:

1-Type (A) 3 hours by rate $5 per hour.

2-Type (B) 2 hours by rate $ 6 per hour.

Required:
Prepare the direct labor budget for the months of the second
quarter of the year.
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Solution:

Direct Labor Budget for the Second Quarter

Data April May June Total
Workers Type ( A)
Production Volumes 12000 14000 | 15000 | 41000
( Units)
Hours per Unit 3 3 3 3
Total Hours Required 36000 | 42000 | 45000 | 123000
Hour Rate ($) 5 5 5 5
Direct Labor Cost ($) 180000 | 210000 | 225000 | 615000
Workers Type (B )
Production Volumes 12000 14000 | 15000 | 41000
( Units)
Hours per Unit 2 2 2 2
Total Hours Required 24000 28000 | 30000 | 82000
Hour Rate ($) 6 6 6 6
Direct Labor Cost ($) 144000 | 168000 | 180000 | 492000
Total Direct Labor 324000 378000 | 405000 |1107000
Costs $ $ $ $
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Example:
Estimated sales volumes for the months of the third quarter of
the current year were as follows:

-July 6000 units
- August 10000 units
- September 8000 units

If you know the following:

1-The company policy is to keep equal to 10% of the sales
volume of the same month as ending finished goods inventory
in each month.

2-The ending finished goods balance of the second quarter was
800 units.

3- The producing unit requires three hours of direct labor by $5
per hour.

Required: Prepare Production and direct labor budgets for the
third quarter of the current year.
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Solution :

Production Budget for the Third Quarter

Data July August | September| Total
Sales VVolume ( units) 6000 10000 8000 24000
+ Ending Inventory 600 1000 800 800
-Beginning Inventory 800 600 1000 800
Production Quantities | 5800 10400 7800 24000
Direct Labor Budget for the Third Quarter
Data July August | September| Total
Production Quantities 5800 10400 7800 24000
Hours per Unit 3 3 3 3
Total Hours Required | 17400 | 31200 23400 | 72000
Hour Rate $ 5 5 5 5
Direct Labor Cost 87000 | 156000 | 117000 | 360000
$ $ $ $
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Homework :

A Company produce and sell one product , The estimated sales
volumes for the second quarter of the year as follows :

-April 6000 units

- May 5000 units

- June 8000 units

If you know the following :

1- The inventory policy for finished goods is equal to 20%
of the sales volume of the same month .

2- The expected ending inventory for March was 1000
units .

3- The unit produce require 2 direct labor hours by $4 per
hour .

Required :
Prepare the production budget and direct labor budget
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